The Skeletal System

The adult skeleton has ___________ bones. 

The skeleton is divided into two categories:  

The _________________________________ skeleton

There are __________ bones. They include the bones of the ____________________, _____________________, ____________________ and _________________________.

The _________________________________ skeleton


There are ________ bones. They include the ________________________, 

            ________________________,  ___________________ and ______________________.

Bone Tissue

There are three types of bone cells: 


​​​​​​​​​​​​​​​​​​​​​​Osteoblasts:


Osteoclasts:


Osteoclasts:

There are two types of bone tissue:  

Compact: 

Spongy:

Bone Marrow:
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Classification of Bones







Long Bones


Short Bones


Flat Bones


Irregular Bones

Bone formation & growth

Epiphyseal Line – Growth Plate

Be able to identify these bones (40 types)


Skull (17 types)


Cranial Bones



Parietal (2), Temporal (2), Frontal (1), Occipital (1), Ethmoid (1), Sphenoid (1)


Facial Bones



Maxilla (2), Zygomatic (2), Mandible (1), Nasal (2), Platine (2), 

Inferior nasal concha (2), Lacrimal (2), Vomer (1)


Auditory Ossicles



Malleus (2), Incus (2), Stapes (2)


Hyoid (1) 


Vetebral Column (5 types)



Cervical vertebrae (7), Thoracic vertebrae (12), Lumbar vertebrae (5), Sacrum (1), coccyx (1)


Thoracic Cage (2 types)



Sternum (1), Ribs (24)


Pectoral Girdles (2 types)



Clavicle (2), Scapula (2)


Upper Extremity (6 types)



Humerus (2), Radius (2), Ulna (2), Carpals (16), Metacarpals (10), Phalanges (28)


Pelvic Girdle (1 type)



Coxal (2)


Lower Extremity (7 types)



Femur (2), Tibia (2), Fibula (2), Patella (2), Tarsals (14), Metatarsals (10), Phalanges (28)


Read chapter 6
Things we didn’t talk about: bone repair, osteopenia, osteoporosis, arthritis, 




 rheumatism, synovial joints, articulations
